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1 mile = 1760 yards
1 mile = 5280 feet
| yard = 3 feet

| yard = 36 inches

| foot = 12 inches

1 mile = 1.609 km
1yard= 09144 m
1 foot =30.48 em
linch = 2.54 cm

1 km = 1000 m
jm=100cm

lLem =10 mm

1o = 2000 pounds

Fpound = 16 ounces

2.2 pounds = [ kg
Ipound =454 ¢
1 ounce =~ 2835 ¢

mile = mi
yard = vd
feet = "or fi

inch="orin

ton = tn

pound = I

QUNCE == 04

1 t=1000 kg
Tkp=1000 g

metre = m
centimetre
millimetre

gram = g

i

kilometre = ki,

min

tonne (metric ton) = {

FORMULAE

(Put your calculator in Dagree Mode)
+ Right trizngles

. Opposiic
sin A = wmn 2OSNE
hypotenuse

cos A=

hypotenuse
: - opposite
fan A = SELOE
adiacent
Pythagorean Theorem

2,.2 2
G 4+b =¢

distance = speed x time

* The equation of a line:
y=me+b
Ax+By+C=0
yoy =m{x-x,)

« The slope of a line:

_tise Ay My

m
mn AX
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